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= 60,000
403 XX SHHS K20 & 260,000 0 260,000
= 200,000
= 60,000
01 XIS A=Z2E X 260,000 0 260,000
OZA AMEHH ZLEAMNY(2AHILLE) 260,000
= 200,000
& 60,000
NASAHCH &= XNSAY 9,000 6,800 2,200
307 QI2t0| ™ 9,000 6,800 2,200
02 Q2B AMAIE E =X 9,000 0 9,000
OXNHEFASH &3 NIAY 9,000
MEf22ZX Y AE & g4 160,000 100,000 60,000
= 160,000
308 XX SHHSOIH 160,000 100,000 60,000
= 160,000
01 AIXSHMENEXZ 160,000 100,000 60,000
MEf2ZAE XA -4 160,000
= 160,000
MEHXIE (2EHH) HMEX 400,000 400,000 0
403 XX SHHS K20 & 400,000 400,000 0
01 XIS A2 X 400,000 400,000 0
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01 IXHHIMNEXS 21,000 70,000 A 49,000
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201 et | 13,500 121,250 A 107,750
01 AR 22l ] 13,500 121,250 A 107,750
OMEHHE X 106 =2 (0l A& 2-10%) 13,500
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A2 028X QY EZ 25 54,000 54,000 0
403 XX SHS K20 & 54,000 0 54,000
01 XIS AS2E X 54,000 0 54,000
OARR 0IS&SX QEZ 2= 54,000
HEES(J=stF™H M) 13,993,000 13,314,358 678,642
WEHHKN=S (=B H ) 13,993,000 13,314,358 678,642
HUuXag 4 13,993,000 13,314,358 678,642
701 JIEISI HSHES 13,993,000 13,314,358 678,642
01 JIEIS HEE 2 13,993,000 13,314,358 678,642
OSEXNE NGMNEAEN ELEIH A2 13,993,000
HHR2ABH (D E=SZ ) 103,026 103,026 0]
JI2ZH (=83 A M) 103,026 103,026 0
Jl2ddl (D= F3 A ) 103,026 103,026 0
201 Bt 46,800 46,800 0
01 AP 22| H| 46,800 46,800 0
OBBHM ALEX (0 & E210%) 46,800
202 044 45,396 45,396 0
01 2L I 45,396 45,396 0
QSAAMM A=K (0 A& 2H10%) 45,396
203 ¥ 2 =& 10,830 10,830 0
01 JI22HEYFFEH| 6,270 6,270 0
O=2ZH (0l AFHE 25%) 6,270
04 EASHEIRFAH| 4,560 4,560 0
OJIZH A D0 AHE 2H5%) 4,560




